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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP5 0
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Warning: col ['M_E’] missing

.0 0.2

0.4 0.6 0.8

m=580, FV0=0

Warning: col ['M_E'] missing

.0 0.2

0.4 0.6 0.8

1.

0



1.

0

m=625, FV0=0

0.8 -

0.6 -

0.4 A

0.2 A

0.0

Warning: col ['M_E'] missing

0.0

0.2 0.4 0.6 0.8

1.

0

1.

0

m=665, FV0=0

0.8 -

0.6

0.4~

0.2+

0.0

Warning: col ['M_E'] missing

0.0

0.2 0.4 0.6 0.8

1.

0

1.

0

m=760, FV0=0

0.8 -

0.6

0.4+

0.2+

0.0

Warning: col ['M_E'] missing

0.0

0.2 0.4 0.6 0.8

1.

0

1.

m=865, FV0=0

0

0.8 -

0.6 -

0.4 -

0.2 4

0.0

Warning: col ['M_E'] missing

0.0

0.2 0.4 0.6 0.8

1.

0
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P5

BriE) | BRI (D) | EHME (EH/HK) (XX ERE

08:05 268 150.0 |Z=| 1BRi&e08:05 Bzh (FKEHERESE)
08:30 268 150.0 & =| 1Ri%@08:30 Bzh (FkAIEREE)
09:30 268 150.0 & =| 1Ri%@09:30 Bzh (KkAEEEE)
10:05 268 150.0 (& =| 1BRi&e10:05 Bzh (KEERESE)
10:35 268 150.0 [ =| 1Ri%@10:35 Bzh (kAEREE)
11:05 268 150.0 & =| 1Rige11:05 Bzh (RAEEE)
11:35 268 150.0 (Z=| 1Ri%@11:35 Bz (REERSE)
12:00 268 150.0 (% =| 1Ri%@12:00 Bz (REEHRSE)
12:25 268 150.0 | =| BRige12:25 Bz (RAEREE)
12:50 268 150.0 (& =| 1BRige12:50 Bz (REFREE)
13:15 268 150.0 = Rige@13:15 Hah (RAEESE)
13:45 268 150.0 = RRiB013:45 B (REAEREE)
14:15 268 150. 0 F| {Rige14:15 Bzh (REERSE)
14:50 268 150.0 =l {Rig014:50 B3 (REAERSE)
15:30 268 150.0 =] Ri%e15:30 B (REARREEE)
16:20 268 150.0 =l RiB016:20 Bz (RAEEE)
23t] 4288.0 (167%) 2400.0 32 3KEC: 2080.0, PH: 6.5

#HERECE (2225.0 vs 3665.0) i35



P5_0, Day=47 (2025-05-21)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

150 feeee—fp————f——————f—————Ff——————f——f—————f T ————
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2187 2175
1803 19561930 9009
168950
100
L 1000
50 -
150 Warning: lcol [FVI',| "FVO’'] missing 105
0 -0
( Mw 4
W 30
150 maxM 1
100 F20 =
=
50 - L 10
1.0
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2800 7
TargetEC=2600. 0,  TargetSetEC=2080. 0 > ECB*10% [t
2200
N e LT ST T T S TP SE I H I H— K —————F——————f——————f-—=— =]
2000 -
1900 4 Warning: lcol ['ECC'] is missing
7.04 TargetPH=6.5, TargetSetPH=6.5 —>—  PHBx10% [
6. t—— e NN ————— ]
6.0 Warning: col ["PHC' 1 is missing
1
400 1 Byltnit1@D49 01:53: ET=2636 Fg=3000. 0 Ro=340.0 4000
1
300 - : - 3000
1
200 - : L 2000
1
100 - : - 1000
1
0 L — 0
0 1 2 3 2 5 6 7 8 9 [fo[ 1218141516 [ 17181920 2 220237,
“WOTEZ[ 1A | % | % | | m [ [ m | [ | [ | m | | m® | ® | m | m || m | m 6w
1
4 ByEt @D47 18:34: 1 ET=2264 Fg=2250.-0-Ro=nan 1 - 3000
w0 B g > - D S .
200 - // -~ | - 2000
1
100 - : il ‘\\ : - 1000
0 £ o & & & I - .
0 1 2 3 ] 5 6 7 8 9 [0 [f2 18 T 14 15 76 [17[ 181920 2 [220 23],
WIZZ|[ W [ [ B [ B[ W | B[2E2512=2212z 2z B | B | B [ B [ B | B | B[ B @& [ &
1
300 - ByWon:@D49 01:53: ET=1930 Fg=2400. 0 Ro=528.0 - 3000
I i o—o o o
200 - : / ——0—@ - 2000
i y
100 - : il ‘\\ - 1000
1 \
10 = 2 ) — — 0
0 | 1 2 | 3 | 4 6 | 7 | 8 ] 9 |10 11 |12 [ 13 14 ] 15 [ 16 | 17 | 18] 19 ] 20 21 | 22 | 23
s BE| T | B [ 1| % | | W 2218712227152 57| % | % | % | % | % | @ | m | & |m| &
0.6 -
0.4 -
0.2 -
1600
—_— 4
[ ] | _obs
1000 - —@— PPFD obs
500 -
100 =
o RH_obs
80 RHo_obs
60
40 -
M e v #

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



31.

31.

31.

31.

31.

30.

32.

32.

31.

31.

30.

30.

29.

32.

32.

31.

31.

31.

30 A

25 -

20 -

15 1

10 1

M_W

'T

T
600

T
800

T
1000

m=610,m FV0=0

M_W

610

T
615

T
620

m=725,m FV0=0

—— MW

725

730

735

m=845,m FV0=0

1T —e— mw

845

850

855

32.

31.

31.

30.

30.

29.

29.

32.

32.

31.

31.

31.

32.

32

31

31

31

31

m=480, FV0=0

5 4

0

—— MW

i
i

4é5 460
m=635,n FV0=0

T
480

1T —e— mw

=

6&0 6&5
m=755,n FV0=0

635

30

25 A

20 A

15 1

10

—— MW

760 765
m=880,n FV0=0

755

2 4

.01

.81

.6

4 -

.24

-o— MW

B
B

880 885 890

32.

31.

31.

30.

30.

29.

29.

32.

31.

31.

31.

31.

32.

31.

31.

31.

31.

31.

m=525, FV0=0

—— MW

550 555
m=665,n FV0=0

M_W

650 6;5
m=785,n FV0=0

30 -

25 A

20 -

15 1

10

M_W

794 796 798

m=920,m FV0=0

790 792

1T —e— mw

920 925 930

32.

31.

31.

30.

30.

29.

29.

32.

32.

31.

31.

30.

30.

29.

31.

31.

31.

31.

31.

30.

m=530, FV0=0

—o— MW

550

T
555

T
560

m=695,m FV0=0

—o— MW

695

T
700

T
705

m=820,m FV0=0

—— MW

820 822

824 826 828

m=970,m FV0=0

-o— MW

970

975

980




.8 1
.6+
4
.2 4
Warning: col ['M_E'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=610, FVO0=0
.8 1
.6 1
4
.2
Warning: col ["M_E’] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=725, FV0=0
.8 4
.6 1
.4 4
.2+
Warning: col ["M_E’] missing
0.0 0.2 0.4 0.6 0.8 1.
m=845, FV0=0
.8+
.6 1
4
.2 4
Warning: col ['M_E’'] missing
0.0 0.2 0.4 0.6 0.8 1.

m=480, FV0=0

Warning: col ['M_E'] missing

0.2 0f4 0)6 0.8
m=635, FV0=0

Warning: col ["M_E’'] missing

0.2 0)4 0)6 0.8
m=755, FV0=0

Warning: col ['M_E'] missing

0.2 0f4 0f6 0.8
m=880, FV0=0

Warning: col ['M_E'] missing

0.2 0.4 0.6 0.8

1.

0

m=525, FV0=0
.8 1
.6 4
4
.2 4
Warning: col ['M_E'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=665, FVO0=0
.8 4
.6 1
.4 4
.2
Warning: col ["M_E’] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=785, FV0=0
.8 4
.6 1
4
.2 4
Warning: col ['M_E'] missing
0.0 0.2 0.4 0.6 0.8 1.
m=920, FVO0=0
.8 4
.6 1
4
.2 4
Warning: col ['M_E’'] missing
0.0 0.2 0.4 0.6 0.8 1.

m=550, FVO0=0
.8 1
.6+
.4
.2 4
Warning: col ['M_E'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=695, FVO0=0
.8 1
.6
.44
.2 1
Warning: col ["M_E’'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=820, FVO0=0
. 8 4
.6 1
.4
.2 4
Warning: col ["M_E’'] missing
0.0 0.2 0.4 0.6 0.8 1.
m=970, FV0=0
. 8 4
.6
.4
.2 4
Warning: col ["M_E'] missing
0.0 0.2 0.4 0.6 0.8 1.

0
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P5

BriE) | BRI (D) | EHME (EH/HK) (XX ERE

07:40 268 150.0 |Z=| {Ri&@07:40 Bz (GREEESE)
08:05 268 150.0 5| {Ri&e08:05 Hzh (RFEESR)
09:00 268 150.0 F BRi&@09:00 Ba1 (RAEREE)
09:35 268 150.0 5| {Ri%e09:35 Bz (FFAERSE)
10:05 268 150.0 Fl 1RRi&@10:05 Bzl (GRAERESE)
10:35 268 150.0 = RRi8010:35 Bz (REAEEE)
11:05 268 150.0 5 {Ri%e11:05 Bz (GRAERSE)
11:30 268 150.0 S {Ri%e11:30 B (GRAERSE)
11:55 268 150.0 E BRi&e11:55 Bzl (GRAERESE)
12:25 268 150.0 =l Rige12:25 Bz (REAEEREE)
12:50 268 150.0 F[ BRige12:50 Bz CGRAEEREESE)
13:15 268 150.0 =l RRige13:15 Bz (REAEREE)
13:40 268 150. 0 5| Ri%e13:40 B (GREERE)
14:15 268 150.0 (% =| 1Ri%e14:15 Bz (REFEBRSE)
15:20 268 150.0 (& =| 1Rige@15:20 Bzh (KREBERESE)
16:25 268 150.0 & =| 1Rige16:25 Bzh (RAEEE)
23t] 4288.0 (167%) 2400.0 32 3KEC: 2080.0, PH: 6.5

#HERECE (2293.0 vs 4055.0) i d 5



P5_0, Day=46 (2025-05-20)

150 s ——————F——7]
2§01 vo, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 3000
2396
100 - 956 1803 L8957 2000
950 1 - 1000
21 Warning: lcol [FVI',| "FVO’'] missing 150
0 L 04
q -
A150_-- VU e e M_W 1 33
T FRV maxM
+
5 L 32
< 100 - =
C 31
- i
> 50‘ I I -
= i nns 20
L
1.0 29
U
0.8
0.6
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
2800 3
TargetEC=2600. 0,  TargetSetEC=2080. 0 > ECB*10% [t
2200
S S L L LT e Sy NI —————f——————f——————f ===}
2000
1900 4 Warning: lcol ['ECC'] is missing
7.04 TargetPH=6.5, TargetSetPH=6.5 —>—  PHBx10% [
6.5 e e e e e L U S —
6.0 Warning: col ["PHC' 1 is missing
1
— 4004 ByInit!0D49 01:53: ET=2669 Fg=3750.0 Ro=1180,0 ¥
c 1 |
‘_:_300_ I 4000
N 1
o 1
< 200 | !
E : - 2000
— 100 - I
Ll 1
1
& % | —

O 1 1712131 4 ]5]c¢6 0
SO W [w [ w [ w | m [ m [ w [ m [ m | m | m | m | m [ w5 | m | m [ m | w5 |6 | m |m|# | m&
c 1 N
S 300 ByEt @DA6 18:34: ET=2020 Fg=2850.0 Ro=nan ! 4000
~
[ [
§200— y N ® ® ®
: o R
= 100 1 =

k& & @ ——— 0

0| 1| 2] 3] 4] 5] 61 71819 1] 1] 1213 14]15]16]17]18]19]2 ]2 ]2]23
SO R m % (%R (2= ® | %% | %% % 525252212222 R | % 252222
c 1 |
2300 ByWoFv16D49 01:53: ET=1757 Fg=2400.0 Ro=637.0 4000
~
o 1 \/
< 200 - : d - oo o oo
= ! /‘/ 6o & o 200
— 100 - 1 IIII
Ll 1
1
1 0.] = ® .  —— Il \\\\““————————~f—-——— 0
0| 1| 2] 3] 4] 5] 6] 7 8] 9 1o ]t [12[13[14]15]16]17]18]19]221]22] 23
0osl BB | |B5E [ | |8 [BE [ZZ| B | 5 B 5 5 HEFNEFEFSEFAEFIN BEFNEFIESS
0.6
0.4
0.2
|
| _obs
PPFD_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



32.

32.

31.

31.

30.

30.

31.

31.

31.

31.

31.

32.

31.

31.

31.

31.

32.

32.

31.

31.

—— MW
5 -
0 -
5 -
0 .
5 -
0 .
T T T T T T
500 600 700 800 900 1000
m=630,m FV0=0
—— MW
8 -
6 -
4 -
2 -
0 -
T T T
630 635 640
m=755,m FV0=0
07 —o— MW
8 -
6 -
4 -
2 .
755 760 765
m=970,m FV0=0
—— MW
5 -
0 -
5 -
0 -

975 980

m=520, FV0=0

31.5 4

31.0 A

30. 5 A

30.0 A

29.5 A

29.0 A

28.5 A

—— MW

i

5é5 550
m=665,n FV0=0

T
520

31.8 A

31.6 -

31.4 -

31.2 -

31.0 A

—o— MW

e

T T T
670 675

665
m=790,m FV0=0
—— MW
31.8 A
31.6
31.4 -
31.2 -
31.0 A
790 795 800
m=975,m FV0=0
32.75 4+ —@— MW
32. 50 A
32.25 A
32. 00
31.75 4
31.50
975 980 985

31.

31.

31.

31.

30.

30.

32.

31.

31.

31.

31.

31.

31.

31.

31.

31.

m=560, FV0=0

—0—

MW

T
560

565 5%0
m=690,n FV0=0

—— MW

T
690

695 700
m=825,n FV0=0

—o— MW

825

830 835

Warning: col ['M_E'] missing

0.0

0.2 0.4 0.6 0.8

31.

31.

31.

31.

31.

30.

32.

31.

31.

31.

31.

31.

32.

31.

31.

31.

31.

31.

m=595, FV0=0

—o— MW

660 665
m=725,n FV0=0

T
595

—o— MW

T T
725 730 735

m=870,m FV0=0

—o— MW

8%5 850
m=520,n FV0=0

870

Warning: col ['M_E'] missing

0 T T T T

0.2 0.4 0.6

0.8 1.

0



m=560, FV0=0

Warning: col ['M_E'] missing

0.2 0f4 0)6 0.8
m=690, FV0=0

Warning: col ["M_E’] missing

0.2 0)4 0)6 0.8
m=825, FV0=0

Warning: col ['M_E’] missing

0.0

0.2 0.4 0.6 0.8

1.

m=595, FV0=0

Warning: col ['M_E'] missing

0.2 0f4 0)6 0.8
m=725, FV0=0

Warning: col ['M_E'] missing

0.2 0)4 0)6 0.8
m=870, FV0=0

Warning: col ['M_E'] missing

0.2 0.4 0.6 0.8

1

0

m=630, FV0=0
.8 1
.6 4
.44
.2 4
Warning: col ['M_E'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=755, FVO0=0
.8 4
.6 1
.4
.2
Warning: col ["M_E’] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=970, FVO0=0
.8 4
.6 1
.4
.24
Warning: col ["M_E’] missing
0.0 0.2 0.4 0.6 0.8 1.

m=665, FV0=0
.8 1
.6+
.4 4
.2 4
Warning: col ['M_E'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=790, FVO0=0
.8 1
.6
.4
.2 1
Warning: col ["M_E’'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=975, FV0=0
. 8 4
.6 1
.4
.2 4
Warning: col ["M_E’'] missing
0.0 0.2 0.4 0.6 0.8 1.

0
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P5

BfiE) | GEBATK (RY) | EBE (EA/K) [ KK ERE

07:50 268 150.0 BH| {Ri%@07:50 B (RAEES)
08:15 268 150.0 (& =| 1BRiB@08:15 Bzh (KEEREE)
08:40 268 150.0 & =| 1Ri%@08:40 Bzh (kAIEREEE)
09:20 268 150.0 & =| 1Ri%@09:20 Bzh (KAEEEE)
09:50 268 150.0 (& =| 1BRi8@09:50 Bz (KAL)
10:15 268 150.0 (& =| 1BRige@10:15 Bzh (KREERESE)
10:40 268 150.0 & =| 1Ri%@10:40 Bzh (kAR
11:05 268 150.0 5 {Ri%e11:05 Bz (GRAERSE)
11:30 268 150.0 S {Ri%e11:30 B (GRAERSE)
11:55 268 150.0 E BRi&e11:55 Bzl (GRAERESE)
12:20 268 150.0 =l Rige@12:20 B3 (REAEEE)
12:45 268 150.0 F BRige12:45 Bz CGREERESE)
13:10 268 150.0 =l RRige13:10 Bz (REAEEE)
13:35 268 150.0 5| 1Ri%e13:35 B (REERER)
14:10 268 150.0 =l Rige14:10 B3 (RAERSE)
14:50 268 150.0 =l RiB0@14:50 Bz (REAEREE)
15:30 268 150. 0 Fl BRi%e15:30 Bz (GRAERESE)
16:10 268 150.0 sl BRiBe16:10 B (REAERESE)

0

=it 4824.0 (18)%) 2700. S KEC: 2080.0, PH: 6.5

#HERECE (2320.0 vs 4465.0) 35



FRV (ml plant-1)

2200

2000 Py

1800 ~

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P5_0, Day=45 (2025-05-19)

150 A

100 A

50

200 +

150 -

100 A

1294
111534

102 Warning: lcol [FVI',| "FVO’'] missing 21

— MW

maxM |

1
o
1

1.0

VI, VO, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 2801 ,:3504 - 3000

882 2000

- 1000

=

- 32

M_W

- 31

30

0.8 A

0.6

0.4+

0.2~

Warning: lcol ["WC1',  "WC2'] missing

0.0

7.0

6.5 mmm e e e e

6.0 -

400 4

300

200

100 A

TargetEC=2600. 0, | TargetSetEC=2080. 0 —>— ECB*10%
o ECC

TargetPH=6.5, TargetSetPH=6.5 —>—  PHB*10%
o PHC

4 4

- 4000
7

- 3000
- 2000

- 1000

408 -

il
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2000
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200

100 A
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EXNEXSEZANS 5 5 5 i 5 5 G A B 5 G A B B B G B B B G

- 3000

- 2000
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408 -

p——& 4 4 4 4
—— o s L —
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2000

300

200

100 A

1.0

2|25 || B [ | BB | |H |27 [(25 || B [ | B5 | BB | B | i5 [ | BE |5 | B | BE | A5 [ BB

1
ByWoFv 1@D49 01:53: ET=1882 Fg=2700.0 Ro=752.0
! ///\\\\\g/////

- 3000

- 2000

- 1000

0.8

0.6

0.4+

0.2~
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b
13
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b
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[ ] | _obs
—@— PPFD obs

RHo _obs

o VPD

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=445, FV0=0 m=505, FV0=0 m=535, FV0=0

33.0 33.0 33.0
—— MW —— MW —— MW —— MW
32.5 1 32.5 1 32.5 -
32.0 32.0 32.0 1
31.5 1 31.5 1 31.5 1
O—0—0—0—0—0—0—0—0—0—0—0—0—0—0 O—0—0—0—0—0—0—0—0—0—0—0—0—0—0 O—0—0—0—0—0—0—0—0—0—0—0—0—0—0
31.0 1 31.0 31.0
30. 5 1 30.5 - 30. 5 1
30. 0 1 30.0 1 30.0 1
T T T T T T T T T T T T
400 600 800 1000 445 450 455 505 510 515 555 560 565
m=585,m FV0=0 m=615,m FV0=0 m=640,m FV0=0 m=675,m FV0=0
33.0 33.0
—— MW —— MW —— MW —— MW
32.5 1 32.5 1 32.0 1
32.0 32.0
31.8 1
31.5 1 31.5 1
OO~ — === 00—~ 0—C—0—0—0 0O—0—0—0—0—0—0—0—0—0—0—0—0—0—0 O—0—0—0—0—0—0—0—0—0—0—0—0—0—0
30. 5 - 30. 5 1
30.0 30.0 31.44
T T T T T T T T T T T T
585 590 595 615 620 625 640 645 650 675 680 685
m=705,m FV0=0 m=730,m FV0=0 m=775,m FV0=0 m=810,m FV0=0
—— MW 32.4 11 _o— MW 31 84 —— MW 32.0 17 _o— MW
32.2 1 31.8 1
31.6 1
32.0 31.6 1
31.4 1
31.8 1 " 31.4 1
31.6 1 31 04 31.2 1
31.4 1 30. 8 31.0
705 710 715 730 735 740 775 780 785 810 815 820
m=840,m FV0=0 m=875,m FV0=0 m=905,m FV0=0 m=935,m FV0=0
—— MW —o— MW —— MW —— MW
33.0 1 33.0 1 33.0 1
32.5 - 32.5 1 32.5 1
32.0 1 32.0 1 32.0 1
0-0-0-0-0-0-0-0-0-0-0-0-0-0-9 o 0-0-0000000006000 - 0-0-000000000000 o 0-0-0000000006000
31.5 1 31.5 1 31.5 1
31.0 1 31.0 31.0 1
30. 5 1 30.5 - 30. 5 1
| | | 30. 0 4 | | 30. 0 4 | | 30. 0 4 | |
840 845 850 875 880 885 905 910 915 935 940 945



33.

32.

32.

31.

31.

30.

30.

m=965, FVO0=0 m=995, FVO0=0
—o— MW —— MW
0 33.0 A
5 32.5
0 - 32.0 A
0009000000000 9090 000090000000 009°
5 31.5 A
0 31.0 A
5 30. 5 A
0 - T T T 30.0 - T T T
965 970 975 995 1000 1005
m=445 m FV0=0 m=505,m FV0=0
0 1.0
8 0. 8 A
6 0.6 1
4 0.4 A
2 0.2 A
Warning: col ["M_E’] missing Warning: col ["M_E’] missing
0 T T T T 00 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1.
m=615, FVO0=0 m=640, FV0=0
0 1.0
8 0. 8 A
6 0.6
44 0.4
2 0.2
Warning: col ["M_E’] missing Warning: col ["M_E’'] missing
.0 T T T T 0-0 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1.
m=730, FVO0=0 m=775, FV0=0
0 1.0
8 0. 8 A
6 0.6
44 0.4
2 0.2
Warning: col ['M_E’'] missing Warning: col ['M_E'] missing
.0 T T T T 0-0 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1.

0

33.

32.

32.

31.

31.

30.

30.

m=1025, FV0=0
-0 MW
0_
5_
0_
0009000000000 09°
5_
0_
5_
0_| T T
1025 1030 1035
m=555,m FV0=0
0
8_
6_
4_
2_
Warning: col ['M_E'] missing
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=675, FVO0=0
0
8_
6_
4_
2_
Warning: col ['M_E’'] missing
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=810, FVO0=0
0
8_
6_
4_
2_
Warning: col ['M_E'] missing
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.

8-
6 -
4
.2+
Warning: col ['M_E'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=585, FV0=0
.8 1
.6 1
.4 4
.2
Warning: col ['M_E’] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=705, FVO0=0
.8 1
.6 1
.4 4
.2 4
Warning: col ["M_E’'] missing
0.0 0.2 0.4 0.6 0.8 1.
m=840, FV0=0
.8+
.6 1
.4 4
.2+
Warning: col ['M_E'] missing
0.0 0.2 0.4 0.6 0.8 1.

0



m=875, FV0=0

Warning: col ['M_E'] missing

0.2

T T
0.4 0.6 0.8

m=995, FV0=0

Warning: col ["M_E’] missing

0.0

0.2 0.4 0.6 0.8

1.

0

m=905, FV0=0

Warning: col ['M_E'] missing

0.2

T T
0.4 0.6 0.8

m=1025, FV0=0

Warning: col ['M_E'] missing

0.0

0.2 0.4 0.6 0.8

1.

0

1.0

0.8

0.6

0.4

0.2

0.0

m=935, FV0=0
Warning: col ['M_E'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.

0

1.0

0.8

0.6

0.4

0.2

0.0

m=965, FV0=0
Warning: col ['M_E'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.

0



